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A saline solution contains 0.90 g NaCl in exactly 100. mL of solution. What is the molanity of the solution?

How many moles of solute are present in 1.5L of 0.24M Na:SO4?

1. Calculate the molarity of 0.060 moles NaHCO: in 10, wL of solution.
M- Mole 7. O.COmule

L ' . ScOL

ICoO mL= |L
2. What is the molar concentration of 1.

ICoomL=1 L . O vole
M= X920 T50mL

3. Calculate the molarity of 29.25 grams of NaCl in 2.0 liters of solution.
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4, Calculate the molarity of 34 grams ufsugar, CiH2On S, mL of sutution _(;;;
M=mele 5 34qC 0.09 mole
L > ¥ q nunqlll;é?g.ie = "-—-5'—-%—- G 2() h"l_ {--iL'Hn O;l
MM = 332,249 Gt -ocol Kudion

5 Calculatt/m. number of mnlvs nf NaCl contained in 0.500L of a 1.5M solution. —————-

2 ores L M (2.0
- MO -M.--. Simete b 2
Mz I | = L2meie . 0.500k € 0.75 moje Nag |
8. How many grams of NaCl are contained in the solution discussed in pr-ul.:a_tern 97

MMNacr - 5____“-"”' 0. T5mole Nac| \ 5%, ”qu .'*,ad L{E’_-f@fd
it [ mote Nac f-H Nacl (25-1‘.>

9, Calculate the number of moles of NaOH contained ing3p, prl. of a 0.05) ;
= 0.0l2
0.05mole , 0,250 X - 5 mole R ermern Be

Q.01 moie> (1s.4.) 4 Mzyrrote
L

10. How many grams and moles of solute are there N2y, AL of a 0.10M CaCls solution?
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Formula: m | V\ - N\i \/’2..-

MgS04?

i i iluted
1. 16625 mLGa 0.TSMINaOH solution is diluted to a fina) volume of 50 mDwhat will the mplarity.of the di

solution be?
Gammy o WU 12emux0 8B 13M >
~, A somL £,

M, = 0.19M S
Vz= 150mL

Mg =7 . : :
2. 1f{100. mL 7 0.15 M §aOH solution is diluted to a final volume of 175 mL, what will the molarity of the diluted
solution be?

V, = 100w m L My = MW 0.15M x 100 ML @
M= 0,15 M — s =rmepaat AL

V, = 1715 Vi @5%)
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3. How many litergof}s 0.050 M HCl §olution can be made by diluting250 m . (

V.,:? MWV, = WM, Vo . 2%0omL X \0.M
M=000M & ™ T 0.050M
V, = 290\~ @
MZ";I%@NUHM is boiled until the volume of the solution is 250. mL, what is the new molarity of
‘ the solution ? )
Vi=FH4SmL M.V, = Mo¥s 349mL % 15V H
M= L5M ‘V, 250. mL
V,y = 2';;—0. m L (2
ML*;-- How many liters will be made whenluthon is diluted to a 1.0 M solution?

18.£.

Vi= 500wl VIVESVAVSS S00m L ;c?,”rMﬁ t}zoo — \L

M,= 2 4M

—
v’ﬁm Credit: Na(s) +2 H:O (l) & 2NaOH (aq) + Hz (g)  Suppose that 10.0 g of sodium reacts completely with 1.00 L of

water and the final solution volume is 1.00L, What is the molarity of the NaOH solution formed by this reaction? { :)
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How many milliliters of a stock solution of 2.00M MgSQ4 would you need to prepare 100.0 mL of 0.400M )
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